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AlHl Z2& 2,000,000,000& - J1& 1,000,000,000& 1,000,000
03 AZHEZXS+Y 40,000 0 40,000
O 5ty AlQHB S ARXIOHIE =8 SH-FHI ALY | 20,000,000 20,000
O ote &40 E =H St==EH| ALY S HI 20,000,000& 20,000
09 JIEAEEXS4Y 7,187,466| 7,896,000 A 708,534
O AT Al St & SEAY A 708,534
ST AIHEAIE S 2E3
23X 2,791,466,0002 - J1H 3,500,000,0002| A 708,534
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bt = J 3 = 32
2-8-MNE-=S oea s 01III & o = %42"1—.“
=] H 6,628,832 6,538,832 90,000
900 0183 6,628,832 6,538,832 90,000
910 0143 3,690,000 3,600,000 90,000
916 oINS 013 3,590,000 3,500,000 90,000
00 XSS 0143 3,590,000 3,500,000 90,000
O HET FAXLYS 0123
2 3,590,000,0002 - JI& 3,500,000,0002 90,000
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[ O3t ] CLEE-)
oM S oaet | R | S
=1 Al 6,730,332 6,711,898 18,434
700 AIZHIS 6,730,332 6,711,898 18,434
710 ZHHI=E 6,729,332 6,710,898 18,434
751 LBkate|y| 6,729,332 6,710,898 18,434
100 olg2g| 4,277,037 4,272,659 4,378
101 Ql2d] 4,050,577 4,046,199 4,378
04 JIZHMZZ2XSES 193,958 189,580 4,378
O XI5t OIS AEN M=ZAHLAIAIZQIL) 48,6402 x3¥ x30< 4,378
200 2ZZH| 1,198,994 1,184,938 14,056
201 29| 915,827 906,771 9,056
02 3==2gH| 772,138 763,082 9,056
O otd &l 4,056
o oI Y| H SA2lAIL |2 (AFSF )
& 1,450,000& x12& - J1& 1,200,000& x12& 3,000
o AGHE ME3H MEZ
23 66,0002 x8Ux12& — J|&E 55,000& x8LHx12& 1,056
O 20054 BTLAIR 3323 (H+=EZH 2| 504 MI|IQ3 S)
A& 35,000,000& x14] = J1& 30,000,000 x 14! 5,000
214 =X A MBI 71,553 66,553 5,000
05 JIEtRAYI 5,000 0 5,000
O Kot =5 FH X 500,000& x 1094 4 5,000
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R EEERRS (31 : 8
oM S oaet | R | S
=1 Al 2,918,035 2,916,035 2,000
700 AIZHIS 2,918,035 2,916,035 2,000
710 ZHHI=E 2,918,035 2,916,035 2,000
716 Xc2l&l 2,918,035 2,916,035 2,000
200 29 Z| 2,908,035 2,906,035 2,000
201 LerEg| 303,269 300,269 3,000
01 A=R22ldl 230,683 227,683 3,000
O Bt=2ZH]| 3,000
o dolictexel & 3,000
- oot E 28 223 ME 1,500& x 2,000 3,000
206 =4I 423,008 437,728 A 14,720
01 BHHZH| 186,448 179,448 7,000
oot Hel & 7,000
oI A M= 33 6,500,000& - 213 3,000,000& 3,500
oMIIME Jl=sEt e 72
338 27,700,000& - J|& 24,200,000 3,500
02 <=l 236,560 258,280 A 21,720
O MEel €42 D421 ETM(EBCIH)PL
d3& 27,000,000& - J|& 36,000,000 A 9,000
O d&sHX &2 HA RIID2X SEH(ELH) 7
4338 30,600,000& - J|E 40,800,000 A 10,200
O 2oisadX €2 (E2/&4HH0IE) 7Y
338 7,560,000& - 718 10,080,000& A 2,520
214 ESX WAL 909,462 895,742 13,720
05 JIEFRXIYI 211,800 233,400 A 21,600
goliot=Hdcl& A 21,600
o dalistexel® St Xl 28|
338 108,000,000& - 71&8129,600,000& A 21,600
06 A&ZEHISAIYI 697,662 662,342 35,320
gofiot=Hdel & 35,320
o JHAEE SAZCIH(DHEZ, HEHIAS)
43 235,660,000& - J1& 218,000,000 17,660
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ot e 2l ot ] (el H)
o W s ol & 3 3
B - NEg- = 0l &t oAt ool
o MIIANdE A2 (dl, SHEZE)
43 57,660,000& - J|& 40,000,000 17,660

-37-



B8 HE S Of &t e =&
dlatd |z
= A 1,611,295 1,563,375 47,920
700 AtgHl= 1,611,295 1,563,375 47,920
710 FHI= 1,611,295 1,563,375 47,920
716 XMcl&bl 1,611,295 1,563,375 47,920
200 2% Zd| 1,611,295 1,563,375 47,920
206 =4l 300,593 291,793 8,800
02 23l 161,620 152,820 8,800
OZANNE 0182 E4H 2L
2 & 55,000& x3208 - J|& 55,0003 %160 8,800
212 Scl=4Y| 14,060 12,940 1,120
09 DJIEt=c|=4H] 14,060 12,940 1,120
O Il=l 1,120
o XA 10,000& x 1494 140
o MN=s Z2& 60,000& x14Hx13|-J|& 25,000& x14H x 13| 490
o otM S} 238 60,0008 x14Hx12|-J|& 25,0008 x14H x13] 490
214 =dS Xl 422,210 384,210 38,000
06 AlEZZHIFXIb 321,000 283,000 38,000
O €04 JtA SJIAE B 15,000,000& x 1Al 15,000
O 0 HOAS () B 3,000,000& x 14! 3,000
O =SgoteHeld RYBI (1750t) B 20,000,000& x 1CH 20,000
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2ogoNE-= Ofl &t Ae =4
olaror | xaoH
= A 44,756,714 44,201,103 555,611
200 KHEXRX= 44,756,714 44,201,103 555,611
230 HEFHE 44,605,366 44,051,400 553,966
234 A== 44,450,966 43,897,000 553,966
401 AlEHIZ 204 44,450,966 43,897,000 553,966
01  Al&dl 44,450,966 43,897,000 553,966
O AotdEH SEAHE(HE) L
Z & 240,000,000 - J1& 300,000,000 A 60,000
O YA EHIZ AL SA 0
o AlH| 43 2,000,000,000& - J1& 1,000,000,000& 1,000,000
o Ot AL S H 2% 1,900,000,000& - J1& 2,900,000,000& | A 1,000,000
O ANUHLR ot==5 -2 SAt
43 800,000,000& - J1& 700,000,000 100,000
O AMULE ot=E T ESA
438 400,000,000& - J1& 300,000,000& 100,000
O SAUTAl Gt=HMeld SEAS 291,466
o AL =EES d& 1,791,466,000&-21& 1,500,000,000& 291,466
O otY MotBSARXIONIE =M St=&HIAtS &4l 20,000,000& 20,000
O oY HHOIIIE =H St=JUIALY S HI 20,000,000 20,000
O R EXOFE M Sh=5 =3 At 56,000,000& x 14 56,000
O KXot XS AA=SA(HS) SAt 2,000,000& x5 & 10,000
O SEO0HIE & SHEZE SHWA 10,000,000& x 14! 10,000
O of==1t AIR& HMI|EH| 23 At 6,500,000& x 14! 6,500
290 DJIEtA2H XS 127,790 115,790 12,000
291 HREXZF gt 127,790 115,790 12,000
751 gt2t3d 127,790 115,790 12,000
01 =ExatEza 120,790 115,790 5,000
O A€t sHEDIS ot=EEIMY 2NEXxs BHets
338 120,790,000& - 718 115,790,000& 5,000
02 Al-EHIEZZEHEZ 7,000 0 7,000
O otl=ZZ MULAEXS HUAS (MetdEme22012) a2
7,000,000& x 14! 7,000
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2 -8 - M5 Ofl &k oK
800 0OiHIH] 23,558
801 OilHIbl 23,558
801 0Oilblbl 23,558
O olibi] ZH 23,558,0002 - J|& 33,913,0008| A 10,355




[ rofe@elD ] (31 : 8
oM S oaet | R | S
=1 Al 7,124,248 7,026,747 97,501
200 KHEXRX= 7,124,248 7,026,747 97,501
230 HEFHE 7,071,747 7,026,747 45,000
235 J|HEXI 4,345,000 4,300,000 45,000
401 AEHIZ2C0HYI 4,345,000 4,300,000 45,000
01 Al&HI 4,340,000 4,300,000 40,000
goliot=Hcl& 40,000
o Yoot el & D2 & AXISA 20,000,000& x 1A 20,000
o zE HEA £HX =8I B 20,000,000& x 1CH 20,000
03 AES0ibI 5,000 0 5,000
O galist=xel & 5,000
o Yoot el & &4I/4H] WAl AFZH 2 2UZ |
2,500,000& x 14! 2,500
o golldte el ALK ATelAd WXl Ar 0l HE SUZ bl
1,500,000& x 14! 1,500
o dolisteel®d S Wil At HE 23| 1,000,000& x 14! 1,000
290 JIEtA=2HKE 52,501 0 52,501
291 ZREEXAZ Btet 52,501 0 52,501
751 Bta3d 52,501 0 52,501
02 AI-EHIEZZtte= 52,501 0 52,501
O otgXF MHotA AL 2 WA (Mt S H2e|0|2) Bheta
52,501,000& x 1A 52,501
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